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(1) BFFEBR 7 N LB TE D> D 32 %, a a a b b a 16 2.67
(2) I G D, a a a c a a 16 2.67
(3) RIROERELILZ L, b b a c a b 13 2.17
3. ¥ET U M LAERCEDIETOR— Ny FORYH A C A B A B 14 2.33
(D) 50 FLO BB\ E 24 b C a b b 12 2.00
(2) ERAGI IS 72 UL 52 7, a c b c a b 12 2.00
4. HREAROEN - KO RA L MEHSORYME B A B B B 13 2.17
(1) WFFEBR 8 FHI T D) 5> > 52 3, b b a b b a 14 2.33
(2) BFFEBR 76 FEt 5 0D TN IRTHIE 22 %, c c b b b b 10 1. 67
(3) F R 1T Z Y D, b b a c b b 12 2.00
5. BRMFEOZLHE A B A C A A 15 2.50
(1) B R RAT 2 4 a b a c a a 15 2.50

¥A (a) =3, B (b) =2x, C (c¢) =14, D (d) =0

42




